RHOFESAMRE-BECELE -/ MERRATRZFARESR

THE6FESF1AEE
®E K BECLHE (RERE) MR
/N i /N i v
= #HEE|AEA = s #HEBAEAN | (BE)FS52
R gozoi | ToELEA | yomngA | HamEA | 2R s | TN |y et TREE | ARt
= HEOLREE |BHTLREE | CELOREH || YOS = B—<TH |FFSEET—
REE FELE cELE =
8 133% 70% 100% 90% 90% 120% 90% 100% 60% 70% 194 9424
ORR 6| 1BE7AREO 5 4 7 3 7 4 3 4 4 47
18R 15 6 12 18 18 17 13 15 8 12 7 141
2R 20 13 14 18 18 22 17 15 12 12 8 169
3R 20 13 20 16 18 14 18 7 12 13 161
AR 23 13 17 13 17 24 18 18 2 13| ZERTTO 168
51 23 13 18 18 17 18 16 17 12 15 167
a5t 107 58 86 87 95 98 89 86 59 69 19 853




